. An African lion weighs 440kg. A bison weighs 670kg. How
much heavier is the bison than the lion?

. A chimpanzee weighs 52kg. A zebra weighs 408kg. What
is the combined weight of the two animals?

. A grocer splits a 75kg tub of apples into five smaller tubs.
Each tub holds the same amount. How many kilograms of
apples are in each tub?

. A farmer loads two sacks of carrots into a box. The total
weight of the two sacks is 129kg. One sack weighs 90kg.
What is the weight of the other sack?

. I had some sugar in a bag. [ added another 250g to give
me a total of 375g of sugar. How much sugar did I have to
begin with?



